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uksV% 1- lHkh iz'u vfuok;Z gSA

All questions are compulsory.
2- ,d iz'u ds lHkh Hkkxksa ds mÙkj ,d gh LFkku ij fy[ksaA

Attempt all parts of a question at one place.
3- iz'uksa dk mÙkj nsrs le; tks iz'u la[;k iz'u i= ij n'kkZbZ xbZ gS] mÙkjiqfLrdk ij ij ogh iz'u

la[;k fy[kuk vfuok;Z gSA
You must indicate on your answer book the same question number as
appears in your question paper, while answering your questions.

Hkkx&d ¼oLrqfu”B iz’u½
Part- A (Objective Type Questions)

1. fuEufyf[kr ç'ukas ds mÙkj nhft;s % 11 x 1 = 11
Answer the following Questions :

(i) ;qjksi dh izFke fizafVax izSl dk uke crk,aA
Name the first printing press of Europe.

(ii) n fcVj dzkbZ vkQ vkmVdkLV yanu iqLrd fdlus fy[kh \
Who wrote the book ‘The Bitter Cry of Outcast London ?

(iii) fLifuax tsuh dk vkfo”dkj dc vkSj fdlus fd;k \
Who invented spinning Jenny and when ?

(iv) >we d`f”k iz.kkyh dks Ckzkthy esa fdl uke ls tkuk tkrk gS \
By what name is Jhoom farming known in Brazil ?

(v) lalk/ku laj{k.k D;k gS \
What is Resource conservation ?

(vi) Hkkjr ds lcls cM+k lkSj ÅtkZ la;a= dgk¡ fLFkr gS \
Where is India’s largest Solar Plant Situated ?

(vii) NAPM dk iw.kZ :i D;k gS \
What is the full form of NAPM ?

(viii)  ̔oS'ohdj.k* D;k gS \
What is ‘Globalisation’ ?

(ix) jktLFkku esa ty laj{k.k dh ijaijkxr fof/k D;k gS \
What is the traditional method of water harvesting in   Rajasthan ?

(x) ISO dk iw.kZ :i D;k gS \
What is the full form of ISO ?

2. fuEufyf[kr ç'ukas ds mÙkj nhft;s % 16 x 1 = 16
Answer the following questions :

(i) ̔fgUn Lojkt̕ iqLrd fdlus fy[kh Fkh \
¼v½ tokgj yky usg: ¼Ck½ nknk HkkbZ ukSjksth
¼l½  egkRek xka/kh ¼n½ t;izdk’k ukjk;.k
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Who wrote the book ‘Hind Swaraj’ ?
(a) Jawahar Lal Nehru (b) Dadabhai Naroji
(c) Mahatma Gandhi (d) Jayaprakash Narayan

(ii) vkfFkZd egkeanh dh 'kq#vkr gqbZ :-
(v)1927 esa (c)1928 esa

(l)1929 eas (n)1930 esa
The Great Depression started in :-

(a) 1927 (b) 1928
(c) 1929 (d) 1930

(iii) HkkQ ds batu dk vkfo"dkj fdlus fd;k \
¼v½FkkWel ,Mhlu ¼c½ekjdksuh
¼l½ U;wdkeSu ¼n½:MksyQ Mhty
Who invented the steam engine ?
(a)Thomas Edison (b)Marconi
(c)Newcomen (d)Rudolf Diesel

(iv) fuEufyf[kr esa ls dkSu lk ,d thok'e bZa/ku gS \
¼v½lksuk ¼c½ykSg v;Ld
¼l½ pwuk iRFkj ¼n½dks;yk
Which of the following is a form of fossil fuel.
(a)Gold (b)Iron-ore
(c)Lime Stone (d)Coal

(v) fjvks Mh tsusjks i`Foh lEesyu dc gqvk \

¼v½1992 ¼c½1942
¼l½ 1982 ¼n½1972

When did Rio De Janeiro Earth Summit take place ?
(a)1992 (b)1942
(c)1982 (d)1972

(vi) fuEufyf[kr esa ls dkSu lh unh ij ljnkj ljksoj ck¡/k fLFkr gS \
¼v½rkih ¼c½ueZnk
¼l½ xaxk ¼n½dkosjh
On which of the following rivers is Sardar Sarovar dam situated ?

(a)Tapi (b)Narmada
(c)Ganga (d)Cauveri

(vii) [ksrM+h jktLFkku dh [kkus fdl /kkrq ds [kuu ds fy, çfl) gS \
¼v½CkkdlkbV ¼c½dkWij
¼l½ ykSg v;Ld ¼n½lksuk
The Khetri mines are famous for the mining of which metal ?
(a)Bauxite (b)Copper
(c)Iron-Ore (d)Gold

(viii) iwoZ if'pe xfy;kjs ls fdu nks nwjLFk lFkkuks dks tksM+k x;k gS \
¼v½eqEcbZ ukxiqj ¼c½eqEcbZ dksydkrk
¼l½ flYkpsj&iksjcanj ¼n½ukxiqj flyhxqM+h
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Which two distant places are connected by East-West corridor?
(a)Mumbai-Porbandar (b)Mumbai-Kolkata
(c)Silchar-Porband (d)Nagpur-Siliguri

(ix) dkyksZl vkSj fLeFk vesfjdk ds fdl leqnk; ls laca/k j[krs Fks \
¼v½ ,Ýks vesfjdu ¼c½Losr
¼l½ vesfjdh ewy ds xksjs ¼n½ Hkkjrh; ewy ds v'osr

Which American community do Carlos and Smith belong to ?
(a) Afro American (b) Whites
(c) Whites of American origin (d) Blacks of Indian origin

(x) cksyhfo;k esa ̔ty vkanksyu* dk usr`Ro fdlus fd;k ?
¼v½ BAMCEF ¼c½ ekvksoknh
¼l½ Fedecor ¼n½ lks'kfyLV ikVhZ

Who led the ‘Water movement’ in Bolivia ?
(a)BAMCEF (b)Maoist
(c)Fedecor (d) Socialist party

(xi) uEufyf[kr esa ls fdl ns'k esa }h & nyh;  O;cLFkk  gS ?
¼v½ vesfjdk ¼c½ Hkkjr
¼l½ ikfdLrku ¼n½ phu

Which of the following countries has two party system ?
(a)America (b) India
(c)Pakistan (d) China

(xii) 2011dh tux.kuk ds vuqlkj Hkkjr esa lk{kjrk nj fdruh Fkh \?
¼v½ 62.8% ¼c½74.04%

¼l½ 64.84% ¼n½ 54.81%

What was the Literacy rate in India as per the census of 2011?
(a) 62.8% (b) 74.04%

(c) 64.84% (d)54.81%

(xiii) vk;kr ij dj  mnkgj.k gSSSSSSA
¼v½mnkjhdj.k dk ¼c½futhdkju dk
¼l½ cS'ohdj.k dk ¼n½O;kij vojks/kd dk
Tax on import is an example of .
(a)Liberalisation (b)Privatisation
(c)Globalisation (d)Trade Block

(xiv) la;qä jk"Vª us miHkksxrk lja{k.k ds fy, fn'kk& funsZ'kdksa dks fdl o"kZ viuk;k \

¼v½ 1985 ¼c½ 1986
¼l½ 1987 ¼n½ 1988

In which year United Nation adopted guidelines for consumer protection ?
(a)1985 (b) 1986
(c)1987 (d) 1988

(xv) Hkkjr esa lw[ks ls fuiVus ds fy, dkSu lk uksMy ea=ky; ftEesnkj gS \
¼v½x`g ea=ky; ¼c½—f"k ea=ky;
¼l½j{kk ea=ky; ¼n½mi;qZä lHkh
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Which nodal ministry is responsible to deal with drought in India ?
(a)Home Ministry (b) Agriculture Ministry
(c)Defence ministry (d) Above all

(xvi) mM+hlk esa Hk;adj pØokr dc vk;k \
¼v½1998 ¼c½1999

¼l½2000 ¼n½2001

When did devastating cyclone occur in Orissa ?
(a)1998 (b) 1999
(c)2000 (d) 2001

3. dkWye & A dk dkWye & B ls lgh feyku dhft;s 5 x 1 = 5
dkWye & A dkWye & B
(i) okVjyw dk ;q) 2005
(ii)jkT; iquxZBu vk;ksx dh fjiksVZ 1948
(iii)lqpuk dk vf/kdkj dkuwu 1972
(iv)Hkkjrh; oU;tho vk;ksx 1815
(v)jk"Vªh; dSMsV dksj 1955

Match Column ‘A’ with Column ‘B’ correctly:
Column ‘A’ Column ‘B’

(i)Battle of Waterloo 2005
(ii)Report of State Reorganisation Commission 1948
(iii)Right to information Act (RTI) 1972
(iv)Indian Wildlife Act 1815
(v)National Cadet Core (NCC) 1955

Hkkx [k ¼fooj.kkRed ç'ku½
Part-B (Subjective Type Questions)

4. vfr y?kq mÙkjh; iz’u (Very Short Answer Type Question)
4. fuEufyf[kr esa ls fdUgh Ng ç'uks ds mÙkj nhft;s : 6 x 2 = 12
Answer any six of the following questions:
(i) oukZdqyj çsl ,DV ij ,d laf{kIr uksV fyf[k,A
Write a short note on Vernacular Press Act.
(ii) O;k[;k djsa dh ty fdl çdkj ,d uohdj.k ;ksX; lalk/ku gS \
Explain how water is a renewable resource ?
(iii) vk/kkjHkwr m|ksx D;k gSa ,d mnkgj.k nsaA

What are basic industries? Give an Example.
(iv) gesa jktuhfrd nyksa  dh t#jr D;ksa gksrh gS \

Why do we need Political Parties?
(v) fdUgh nks laoS/kkfud çko/kkuksa dk ftØ djsa tks Hkkjr dks /keZ fujis{k  ns'k cukrs
gSaA

Downloaded from cclchapter.com



Mention any two constitutional provisions that make India a secular
country.
(vi) /kkj.kh;rk ds fo"k; fodkl ds fy, D;ksa vko';d gSA

Why is the concept of sustainability essential for development ?
(vii) lqukeh ygjksa dh dksbZ rhu fo'ks"krk,a fyf[k,A

Write any three features of Tsunam waves/
y?kq mÙkjh; iz'u(Short Answer type Questions)

5. fuEufyf[kr esa ls fdUgh N iz'uksa ds mÙkj nhft,A 6 x 3= 18
(i) eqnz.k laLd`fr us Hkkjr esa jk"Vªokn ds fodkl esa fdl izdkj enn dh\

Explain how print culture assisted the growth of nationalism in India?
(ii) tSo vkSj vtSo lalk/ku D;k gS\ mnkgj.k nsdj Li"V djsaA

What are biotic and abiotic resources? Explain with examples.
(iii) Hkkjr esa lkSj mtkZ dk Hkfo"; mTtoy gSA O;k[;k djsaA
The future of Solar energy is bright in India Explain.
(iv) ncko lewg vkSj vkanksyu jktuhfrd dks fdl rjg izHkkfor djrs gSa\

In What ways do pressure groups and movements exert pressure on
politics?
(v) [kqyh vkSj izPNUu csjkstxkjh ds chp varj Li"V djsaA

Distinguish between open unemployment and disguisd unemployment.
(vi) dqN ,ls dkjdksa dh ppkZ djsa ftuls miHkksdrkvksa dk 'kks"k.k gksrk gSA

Mention a few factors which causes exploitation of consumers.
(vii) oSdfYid lapkj iz.kfy;ka D;ksa LFkkfir dh tkuh pkfg,\
Why should the alternate communication system be installed?

nh?kZ mRrjh; iz'u (Long answer type questions)
6. fuEufyf[kr esa ls fdUgha nks iz'uksa ds mRrj nhft,% 4 x 2 = 8
(i) mu dkj.kksa dh foospuk dhft, ftuls vBkgjoha lnh esa lwjr canjxkg us viuk
egRo [kks fn;kA
Explain why th part of Surat decline its importance by the end of the
eighteenth century.
(ii) d`f"k mRiknu esa o`f} lqfuf'pr djus ds fy, ljdkj }kjk fd, x, mik; crk,aA
Suggest the initiative taken by the government to ensure the increase in
agriculture production.
(iii) vki ,d tkx:d miHkksDrk gksus ds ukrs Ckktkj ls lkeku [kjhnrs le; fdu
fdu ckrksa dk /;ku j[kksxsA
Being an aware consumer what main things will you keep in mind while
buying things in the market?
7. fuEufyf[kr esa ls fdUgha nks iz'uksa ds mRrj nhft, 5 x 2 = 10
Answer any two of the following questions
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(i) izFke fo'o ;q} ds le; Hkkjr dk vkS|ksfxd mRiknu D;ksa c<k \

Why did the industrial production in India increase during the world war ?
or

egkaeanh ds dkj.kksa dh O;k[;k djsaA

Explain the causes of the Great Depression.
(ii) yksdra= esa jktuhfrd nyksa dh fofHkUu Hkwfedkvksa ij ppkZ djsaA

State the various functions political party perform in a democracy.
or

vk/kqfud yksdrkaf=d O;oLFkkvksa esa lRrk dh lk>snkjh ds vyx vyx rjhds D;k gSa\
muesa ls izR;sd dk ,d mnkgj.k Hkh nsaA
What are the different forms of power sharing in modern democracies?
Give an example of each of these.
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